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following statements are true?1) all of the variables in an interface are

implicitly static2) all of the variables in an interface are implicitly

final3) all of the methods in an interface are implicitly abstract4) a

method in an interface can access class level variables question

23)which of the following statements are true?1) the string class is

implemented as a char array, elements are addressed using the

stringname[] convention2) the operator is overloaded for

concatenation for the string class3) strings are a primitive type in java

and the stringbuffer is used as the matching wrapper type4) the size

of a string can be retrieved using the length property question

24)which of the following statements are true?1) a method in an

interface must not have a body2) a class may extend one other class

plus at most one interface3) a class may extends at most one other

class plus implement many interfaces4) an class accesses an interface

via the keyword uses question 25)which of the following statements

are true?1) the following statement will produce a result of 1.

system.out.println( -1 >>>2).2) performing an unsigned left shift (3)

the following statement will produce a result of zero,

system.out.println(1 >>1).4) all the java integral types are signed

numbersquestion 26)which of the following statements are true?1)

the elements in a java array can only be of primitive types, not

objects2) arrays elements are initialized to default values wherever



they are created using the keword new3) an array may be

dynamically resized using the setsize method4) you can find out the

size of an array using the size method 100Test 下载频道开通，各
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